Y5 — Summer — Block 3 — Step 7 — Subtracting decimals with different numbers of decimal places
Answers

Question Answer
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Tiny can work out 4.7 — 1.3 and then subtract another 0.05
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Y5 — Summer — Block 3 — Step 7 — Subtracting decimals with different numbers of decimal places
Answers (continued)

Question Answer
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a) 2.08m
5 b) 1.78 m
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- 32.56¢g
2 13.4 — 2.59 = 10.81




Y5 — Summer — Block 3 — Step 7 — Subtracting decimals with different numbers of decimal places
Answers (continued)

Question Answer
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Find the complement to 1 of the decimal part of the second number, and add it to 1 less
than the difference between the whole numbers.
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